Toilet Safety Frame

Model 1392 Model 635-3

[ H .
; E @ Installed View of 1392

_________




Toilet Safety Frame

Quantity Per

Item
Number | Note | Part Number |Description Package | Assembly

1 A,B |01000X001-NLA | NLA - Armrest, Full Length, Beige 1 2
1 AC 1163889 Armrests (Pair) 1 1
1 D.E 1073833-NLA | NLA - Armrest, Full Length, White 1 2
1 D,F,N | 1059660-NLA | NLA - Armrest, Full Length, Grey 1 2
LM 1132261-NLA | NLA - Kit, Armrest with Hardware, Full Length - 1 1

Grey
1 NLA - Armrest, Full Length, Grey 1 2
2 NLA - Screw, Phillips Pan Head (1/4 x 1-1/4") 1 4
2 A [48127X001-NLA | NLA - Screw, Phillips Round Head (#10-32 x 1/2") 1 4
2 D 1061431-NLA | NLA - Screw, Phillips Pan Head (1/4 x 1-1/4") 1 4
3 A,K [48016X000-NLA | NLA - Frame, Side - Right 1 1
3 A,K [48016X001-NLA | NLA - Frame, Side - Left 1 1
3 D 1082559-NLA | NLA - Frame, Side Rail, Chrome - Right/Left 1 2
4 AG 1058806-NLA | NLA - Leg Extension Assembly 1 2
4 A,G,N | 1058807-NLA | NLA - Kit, Leg Extension Sub-Assembly 1 1
Anti-Rattle, Grey (1-1/8") 1 2
Tube, Leg Extension 1 2
Tip, Rubber, Light Grey (1-1/8") 1 2
5 1094945 Button, Snap 1 4
6 1063124 Anti-Rattle, Grey (1-1/8") 1 2
7 D 1073450-NLA | NLA - Leg Extension Assembly 1 2
8 1057797 Tip, Rubber, Light Grey (1-1/8") 1 2
9 A 1018602-NLA | NLA - Bracket, Aluminum 1 1
10 1057287 Plug Button, Grey (1") 1 2
11 1073237-NLA | NLA - Clamp, Toilet Rail 1 2
12 D 1073452-NLA | NLA - Brace 1 1
D,J 1074444-NLA | NLA - Kit, Hardware 1 1
13 Locknut (1/4-20) 1 2
14 Screw, Phillips Pan Head (1/4-20 x 1-3/8") 1 2

NOTE: A -To be used with Model 1392.

B - Before 5/17/99.

C - After 5/14/09.

D - To be used on Model 635-3.
E - Before 3/18/99.

F - After 3/19/99.

G - Kit Includes: Leg Tube, Anti-Rattle and Rubber Tip.
J - Kit Includes Items 13 and 14.
K - Item no longer available, suggested replacement is a complete unit 1392KD.
L - Kit includes (2) Armrests Part #1059660 and (4) Screws Part #1061431.

M - Not Shown.
N - Item no longer available, refer to Kit Part #1132261.




